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Identify the following incorrect statement

1) The Apollo 11 spacecraft sent the first man to the moon

2) Neil Armstrong was the only astronaut in the Apollo 11
spacecraft

3) The Apollo 11 spacecraft was launched on July 16, 1969

4) The Apollo spacecraft returned safely to Earth on July 24,
1969 with space heroes

QRR®®

T 0R) HIAR 3TeehI GEffur AT STk ShIUTAT FEUdTd ?
%) of foshm W R) F B W
3) ©f Mide Ty ¥) B 3Wfdg geHvem DOR®
Who is the father of Indian Space Telescope Science?
1) Dr. Vikram Sarabhai 2) Dr. Homi Bhabha
3) Dr. Govind Swaroop 4) Dr. Arvind Subramaniam

Y 03) WA SUESIT TN SNATETES! Wieietieh! il 3UUE
STIHIITA TSI 3ATAT ?
Which of the following satellites was launched to study the OIBISIO)
oceans of Indian subcontinent?
1) SARAL. 2) CARTOSAT 3) OCEANSAT 4) RISAT
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¥ oY) WRATE S{HTE Jorelt WH = qui J1d | e
What is the full name of Gagan, India's GPS system?
1) GPS-aided GEO augmented navigation DOR®@
2) GPS-aided Geographical augmented navigation
3) Globe-aided GEO augmented navigation
4) Geographical aided GPS augmented navigation
T ob) EHIF AT SUTAT SHHTH ATTesieh YUITedl = 19 9.
Name the GPS navigation system of China OR®®
1) Glonnas 2) Galileo  3) Beidou 4) IRNSS
T 0§) I wTieeehel TURTel @ieiiaiieh! hIvTcT TehaRish! TR TIR
holel] 3T ?
2) fdm VI 3) RS ) AR A DOB®
Polythene plastic bag is made from which of the following
Polymer units?
1) Methane 2) Ethene 3) Glucose 4) None of these
T3 olg) ITEIAM-¢ I WIATAUsh! ShIvTdT IUHT0 THUITT 3TTAeA! Bl ?
Which of the following equipment was installed on
Chandrayaan-17?
1) Terrain Mapping Cameras 0Q0BR®
2) High Energy X-ray spectrometer
3) Lunar laser Ranging Instrument
4) All of the above
TR 0¢) B THS 3Teq HAM AT HRA T &1 el AT A hioredn aut
TSI sh{0ITd JATAT?
?) 2R’R¢ R) %R 3) R00%  ¥) Roo¥ DOBG
In which year Dr. APJ Abdul Kalam was awarded the highest
civilian honor Bharat Ratna ?
1) 1998 2) 1997 3) 2001 4) 2004
I oR) UdIE o H1 WieAedeh! ShivTeaT deadvliel! s’ =Terd ?
Robot works on which of the following principles
1) Electronic signals DOB®

2) Electromagnetic Radiations
3) Artificial Intelligence
4) Internal telecom
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T R0) SIS Fard 73T faafiidt gafia Jam o grg hiaast
WATAh! ST e esr=aT HHe IR qreuTd 3Tl gidT?

%) B - IS R) AT - =
3) B - feaeeeds ) =fi9- Wrn
The world's largest creation related experiment, the Large OO®

Hadron Collider, was carried out on the border of which of
the following two countries?

1) France - England 2) Nepal - China

3) France - Switzerland 4) China — Russia

I %) Wield faum foama =, et faum feer.
%) TEHYA STeX TSV HSATAHT SHHL HSTq FEUrard. Tl shom
/ TS ST AT ST TSV HTdqal qISi= oM 31
TR,
R) MU IR Shiaed Teg=a R SIS ST UISI=al shuamHed
3R SIS TS Tegd 3TEdT.

%) B R) Wk R
3) g, R ¥) AT T
Consider the following statements, choose the wrong ones. P@R®
1) The nerves emanating from the brain are called karmar
nerves. The nerves emanating from the spinal cord / spinal
cord are called spinal cord.
2) There are 12 pairs of cranial nerves in our body and 32
pairs of spinal nerves in the spinal cord.
1) Only 1 2) Only 2
3)1,2 4) None of the above
T ¢R) SEQVEET @il fag™ @& =1, Ay fagm /4 faer.
%) VaesHt ¥ STHCAT AT Saes<A atq Teyu fegd Arda.
R) TG ST AR S I ¥ feqa .
%) B R) Wk R
3) ¢, R ¥) AR AT
Note the following statements about visual impairment. DOBRO

Select the correct statement / s.
1) Nearby objects are not clearly visible to people with near

vision.
2) People with farsightedness do not see near objects clearly.
1) Only 1 2) Only 2
3)1,2 4) None of the above
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I 23) THU NG S19d Widid faae fa=md .

%) Ef. TERET Sehe WU AT $]3¢ L SN hiect hl 5o
HTEAATHS SR TRtuneeTige ASus= aiamdn A
qUTATS ! Seetd.

R) WA fTer=n TR IrgHee HifdehsmaTd Toareal Il SE
HITATHIS! hell SITal. Fehrd! faem e

%) B 2 R) Wtk R

3) L MR ) AR A

Raman Effect Consider the following statements.

1) Dr. Chandrasekhar Venkat Raman discovered in 1928 that
the radiation of light caused by mass media changes the
frequency and wavelength of radiation.

2) Raman Lidar is used in atmospheric physics to study water
vapor. Choose incorrect statements.

1) Only 1 2) Only 2

3)1,2 4) None of the above

ORGe®

T 2¥)

QTefterdehl shIvTdT 31T FEie UM TR ?

%) HehTAT ) WA 3) HAMAT ) ATAhHI TR
Which of the following is a non-communicable / non-
contagious disease?

1) Cancer 2) Cholera 3) Malaria 4) None of these

0RO®

T gu) EETgiETear Ufiqd TergluSrea WHE Wicliedshl Th

%) AU ) I 3) IS ) feufam

In pancreatic juice from pancreatic gland one of the following
1) lipase 2) renin 3) amylase 4) Tripsin

QO®

T 28)

RNA THeea 9 faam faaer.

%) Y RNA ol aftiet (e wifefe sHeiel &,

R) RNA =i gr@edt fFererse W sHeiet 7.

3) T fFierse di W[ S JTE.

) HH L TR R)WH R T 3 3) T |d ¥) T AT

Choose the right statement about RNA structure.

1) Each RNA is composed of a series of double spiral
molecules.

2) The chain of RNA is made up of nucleotide molecules.

3) Each nucleotide is made up of three molecules.

1) Only 1 and 2 2)Only 2 and 3

3) All of the Above 4) None of the above

QRR®
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T )

T Ufeprenieaes bl faum™ it 3T ?

8) TR St s

R) TifTeh HecaTe 3TEed.

3) SR SaTE IR Uished! 31,

%) JTIT JTecqIG &THAT

) IR SR Hehaid 3194,

) %3N )R, ¥, 3 3) 3,4 ¥) ¥, 4
What are the inaccurate statements about Phylum
Echinodermata?

1) The body is three-tiered

2) Sexual reproduction is found.

3) The body has a virtual body cavity.

4) Organ regeneration capacity

5) The body is covered with chitin.

1)1,3,5 2)2,4,3 3)3,5 4)4,5

ORGe®

T ¢)

SR Ueh! ATEhIqT R0 Talee aWaTal SFd hed™ 2o 313N
forgaam yatea gd @ argehran Uy okt ?
g) %0 3EH  R) ¥o JAIGH 3) 30 IEH ¥) L00 g

If 20 volt potential difference is used from one conductor
then 10 A current is flowing then what is the resistance of the
conductor?

1) 10 ohm 2) 40 ohm

3) 30 ohm 4) 100 ohm

0RO®

T 2R)

Teh! Althd JEQHM %000 Tohl 3T, TN SIS ISfaedrd alh
0.34 /8. 9 y&IfUd Bid, O e ?

If there is mass of a gun.1000 kg, launched by 0.25 m/s then
calculate momentum?

1) 250 kg m/s 2) 125kgm /s

3) 750kg m/s 4)1000 kg m/s

0RO®

T3 R0)

I HES HIAHT AT I GURUITES! T h Hdesel ST ?
R) el shie  R) Sfdegd  3) IWTHE ) ZRSiE
When adulterating food, what is added to the ghee to
improve its odor?

1) Lead chromate 2) Dextrin

3) Argimon 4) Trybutrin

QR®
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g %)

GTeATeTdeh! ShIvTd TR I a1e JATMT fereprer Forrfora st 2

%) AERICE  ?) TRNH 3) TR ¥) YRRifeRA
Which of the following hormones regulates body growth and
development?

1) Somatotropin 2) Glycogen 3) Insulin  4) Thyroxin

QO®®

T Q)

Thd TefieEe @refia fagm wal.

%) B wNrdier gata Jiet et STE < e ST SIe[el 3.

R) A1 vttt gUCIaTSed Aiemied, yeErfen, gufadha Jrere
BT HTE LT,

I faam faer.

%) ®h ¢ RD)EHR 3) ¢, R ¥) IR TR

The following statements about liver gland.

1) Itisthe largest gland in the body and is located on the left
side of the stomach.

2) Hepatocytes in this gland secrete hormones like
somatomedin, thrombopyotin, hepsidine.

Choose the right statement.

1) Only 1 2)Only2 3)1,2 4) None of these

ORGe®

I3 R3)

Giieaed @reftet faam femmra =,

%) HifeTeeTH=aT UGS qiSTal HMUT T cTehal HehlT Bial.

R) HIHIST=AT AN S HIGGE!, TYHE 3. TNUTH BIaw.

J faum / faum fee.

%) B 3 J)E®H L 3) LR ¥) ATRT HTEET TS

Consider the following statements about minerals.

1) Lack of molybdenum causes cancer of mouth and
oesophagus.

2) Manganese deficiency causes joint pain, diabetes

etc. The results happen.

Choose the correct statement / statements.

1)Only2 2)Only1  3) 1,2 4) none of these

0RO®

T RY)

feenfyrem =1 gewaea @refte faum fommra =

%) & FER TTEt YT HeHh IR

R) frmia s getgediea O 3Meesd

3) e IR I AT I A1 GeAgedTan Iy A

¥) B X 3T, THIRIASHT OIS aaid STd.

?) B ¢ V3, Y 3)%, Y ¥) ¥
Consider the following statements about the element
“dysprosium”.

1) Itis a silvery white metallic element.

2) It occurs with other element in nature

3) French Scientist Yugin Demakei discovered this element.
4) Itis used to make laser equipment, lighting.
Choose the right one.

1)Only12)2,3,4 3)1,2,4 4)1,4

QR®
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g %)

eI 3T SEd Wield 9 foemua =

%) TAINA &1 ol ATaRegieia gRgeH Fat ¢ a1 378

R) TSN M UfgedT Teeh= TUTEH Tdeh HHHIA TG JTEAM.

I fagm /a4 fast.

%) ®h ¢ R)EH R 3) &R ¥) ITdhT TR

Consider the following statements about Newland's octave.

1) Fluorine is the 8th after hydrogen in Newlands
octahedron

2) The properties of the eighth and first element are the
same in each octave.

1) Only 1 2)Only2 3)1,2 4) none of these

QR®®

I3 Q%)

TEISH A1 HAgedTs df¥Teed HIvTd ?

%) TEGISH UL Shashid g Tl

R) BEGIH AT hgshid =g THal

3) EISIS=AT Shgehld Ueha! WISl 8l

¥) BRIGISTAT shgehTHied! TRYHU MR G Seidei 31T

What is the Characteristics of the hydrogen element?

1) A Neutron is present in nucleus

2) No Neutron in the nucleus

3) No proton in the nucleus

4) Around the Nucleus of Hydrogen there are two circulating
electrons.

QRR®®

T R0)

9 TS I ?

%) 9 / SRS R) &% | §A
3) 9 / "4l ¥) =9dl / 9
What is the pressure?

1) Force / Area 2) Area/ Force

3) Force / Density 4) Density / Force

QO®

T W)

fe=men sadaTe fodt s/t ?

2) 2.¥R ) ¥R 3) R ¥) ¢
Refractive index of diamond is .....

1) 1.42 2)2.42 3)2 4) 1

QO®

I3 V)

GTeld GETSIqedl — T&<dl SR T el Ueh STl
%) <= R) If® 3) BEET ¥) SR
Select the Odd one out of the basis of number of Germ

Layers.
1) Taenic 2) Nereis  3) Hydra 4) Ascaris

QRR®
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T3 30) WICUshl Shivcal TvaHe, o= &= <O odd feaar
L ?
%) WS J)EGH )W Y) =®A QRR®
In which one of the following animals Skin is a respiratory
Organ?
1) Cockroach  2) Frog 3) Shark 4) Whale
T 3%) WIelieidshl T JT9FT=T ¢ ShivrdT ?
%) g, arEer, dfem, SeaTs
R) T, geaTges, sgemmET, e
3) UIUTENEl, Ui, SgaHTEl, I
¥) SETHTHI, SEaTEes, HIIE, UTTalS] DOBR®
Which of the following set belongs to the class Mammalia?
1) Lion, Hippopotamus, Penguin, Bat
2) Lion, Bat, Whale, Ostrich
3) Hippopotamus, Penguin, Whale, Kangaroo
4) Whale, Bat, Kangaroo, Hippopotamus
T 33) I SIS HAS@T
I LEN] - &= Teheh
R) ITRasrEdt - Y T
3) Aifesha B - A Thh
¥) HicHsm@ - IV T 00®®
Which of the following is not matched?
1) Decibel - Unit of sound
2) Horse Power - Unit of Power
3) Nautical mile - Unit of distance
4) Celsius - Unit of heat
T 33) M AYg 9ie=a U= SehTel ST Tedal Faid el SHIvmd
IshIHe ST T Bld ?
g) fe R) & 3) el ¥) W%l QR®
When white light passes through a prism, the colour which
bends least is
1) Indigo 2) Red 3) Orange 4) Violet
Y 3¥)  SATIAT ISR BAAT T ..o ST ST TEAl
%) STATERO R) FHGR=AT desTaiicl
3) IAUSBdIA e ¥) 9 g DOB®

The air pressure on our body is equal to ............
1) Atmospheric pressure 2) At sea level pressure
3) Space level pressure 4) Normal Pressure

8|16




Inside water, an air bubble behaves ............
1) Like a flat mirror  2) Like a concave lens
3) Like a convex lens 4) Like a concave mirro

QR®®

9 3%)

wrefia faum s 9 9 galy faer-

) e THROTETS! HIeqqT= ATaehdl 3T8d

) JeRTIT=AT THROUTETS! HIETHT= STT9dehdl T9d

?) 3, ¥ el & ) I, § sl @I

3) I W TG ¥) 9 @R, 3@

Read the following sentences carefully and find out proper
answer-

A) Medium is necessary for propagation of sound
B) Medium is not necessary for propagation of light
1) A, B both right 2) A, B both wrong

3) Aright, B wrong 4) B right, A wrong

QR®®

T 30)

wrefiar srfufsrade yeatamgrean St T wre feer.
6C024—6HZOE%£%§%E—+?—+6H20

?) CeHeOg R) C¢H1206

3) C1,H;,04 ¥) CO3 + 0O,

Find out correct option at the space of question mark in
following reaction?

H
6 €O, + 61,0 chlorophyll

1) CgHgOg 2) C¢Hy204

sunlight

—? + 6H,0

QO®

TH 3¢)

heigeh WIefieTdeh! I Tl TEATd 7
%) HET + IS

R) InifeasH + e

3) FEA + ARESH + AfadeH

¥) HET + SN + JAifeas
Carbohydrates are mainly made up of which of the following
elements ?

1) Carbon + Hydrogen

2) Oxygen + Carbon

3) Carbon + Nitrogen + Oxygen

4) Carbon + Hydrogen + Oxygen.

QR®
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T 3R) @reie faar= fleqor s, it reeee g faum faer

?) d
R) @ 9d HS{iaTeR ared

3) d WA I Wd: AR B

¥) IS T ThR GIguerd 31med.

Refer the given picture, select an incorrect statement
regarding organism shown in it.

1) It is a fungus

2) It feeds on dead organic matter

3) It can synthesize its own food

4) Some of the varieties are eadible.

QR®®

T ¥o) TGl T3daicd] Tfgedl IHTd Widladshl shivld di9 3Tale R &ld ?

%) IO A, STeed T, S ok

R) et AW, HRehel Hitedd, TeaH AlegH
3) e amdeei, I A, ST diEehiee!
¥) AT diEeniegl, I THH, 3f-g foeam™

What is the name of first three astronauts sent to the moon?

1) Yuri Gagarin, Albert Elis, Elon Musk

2) Neil Armstrong, Michel Collins, Edwin Aldrin.

3) Neil Armstrong, Yuri Gagarin, Valentina Tereskova
4) Valentina Tereskova, Yuri Gagarin, Andrue Williams

QO®

T ¥¢) R00R HEY Wil Ush! hIVcAT WRA I3 AT W I

forrIm= Aieie qREhR <uATd JTeT ?

R ) GSTHUIH ST R)haTyT Feaneff
3)STRSHT THEHWH ¥ Teemer Armia

Which of the following Indian scientists was awarded the

Nobel Prize in Chemistry in 20097
1) Subramaniam Chandrasekhar
2) Kailash Satyarthi

3) Venkataraman Ramakrishnan
4) Vidyadhar Naipaul

QRR®
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T ¥R) g Tod e fRoeren 9 gfqare feedt fhefier g e
%) 2&2%0 TeRatiier R) 230 fehetiiex
3) gR300 fRAMIET  ¥) ]Ro00 TRaHIeR
How many kilometers per hour is the speed of the earth OINIS]O)]
revolving around itself?
1) 1610 kilometers  2) 1730 kilometers
3) 12300 kilometers 4) 9200 kilometers

T ¥3) TgIH-3 WATeAdshl hivedT arga] J&ifud svand 37 ?

%) ¥ A 2R3 R) & IATFRIE R02R

3) 33 THART 030 ¥) R ot R02%

Chandrayaan-2 was launched on which of the following O0BR®
dates?

1) August 4, 1993 2) 6 October 2019

3) 23 January 2020 4) 22 July 2019

T YY) WRATd SUUEE Sievht Wielietieh! shivrear faewmfl shefl I1d ?
In India, satellites are built in which of the following places?
1) ISRO satellite center Bengluru
2) ISRO space application center Ahemadabad PRO®
3) Vikram Sarabhai Space Center (VSSC)
4) Satish Dhawan Space Center (SDSC) SHAR

T ¥Y) SHHELie i an st Srdie gfger SIvEts v arRee
T(HUIT JATAT ?
%) R0 MM 230 R) L T /¥R
3) & T ’¥Y ¥) 4 3TeIe §]%Y

On what date was the world's first atomic bomb dropped on CRO®
Hiroshima, Japan?
1) 20 August 1930 2) May 1, 1942
3) 6 August 1945 4) 15 October 1914
T ¥&) feafent qrast 2 tamEfte T wreflatdl S 3R 7
%) HicIRM FANSS Q) Hicem gHgiwETse
3) HicIH FANSSHATRARANSE ¥ HicI™H HIaHE DOB®
Which of the following is the chemical name of bleaching
powder?
1) Calcium chloride 2) Calcium hydroxide

3) Calcium chloride oxychlorite 4) Calcium carbonate

11| 16




T ¥o) TS et Framor a sqaeema ITiershtor ar=h Lo shivren o
Eli K
%) 2’%3 R) RooR  3) Rooy  ¥) RooR OINIGIO)
The national disaster management authority was
established in which year?
1) 1993 2) 2002 3) 2005 4) 2009
T ¥¢) WTeterdehl shivrdl Stiaacd qvand foteresd ATeid ?
) SHtaeca 31 ¥) Sliedcd 8 %) Sladcd &
g) Sie-dcd & 3) Sffadca 3 %) Siedcd
%) 3A,%,8 R) A,9,3,% 3) 3% ¥) ANH3,% DOB®
Which of the following vitamins are not soluble in water?
A) Vitamin A B) Vitamin D C) Vitamin C
D) Vitamin B E) Vitamin E F) Vitamin K
1) Only A,C,D 2)Only A, B,Eand F
3)Only D, E, F 4)Only A, F, Eand K
I ¥R) Wielldl UgT STRIfhd MR 61 gafadl ?
What does the shaded part of the following strip
represent?
\Y N
§§ olalel
NN
2 1 2 3 2 1 2 1
W 373737708 3797373
2 1 3 1 2 2 5
© 37377 ©ar337y
T3 40) EIECIRSIC]H
Match the following
List | List- 1l
P) 2.220 1. 24—
100
Q) 2.022 2. 24242
10 100
R) 2.020 3. 20424+ —= 020®
10 1000
$) 20.202 4, 2442
100 1000
P Q R S
1)4 2 3 1
2) 4 2 1 3
3)2 4 3 1
42 4 1 3

12 | 16




T 42)

If V19-4Jx =12 -7, thenx=

1) 84 2) 28 3)21 4) 14

QR®

TH 4R)

V125 + 255 =

(A) V11 +1)45 (B) 51 +/5)
©) Y5(JT1++5) (D) V5(Vil+1)

ORGe®

99 43)

4+3\/5
=a+b+Jh -
It~ e V5., then (a, b) =

61 —24 61 24
(A)(zg 29) ®) (2_9’2_9)

o1 24 61 24
©129°29 (D) | 2929

QRR®®

T 4Y)

J21-45 +8Y3 - 415 =

(A) J5-2+2y3 B J-J1-y12
C) —b+Va+y12 D 5 -5 + 12

QRR®®

T L)

7+443
2 (v _ 1412 —
Ifx = 7 4\/— then x* (x — 14)* =

A1 @®-1 ©2 D-2

0RO®

T UE)

H x=38- J— then

~/—+\/3x
A)1/V6 BB (©)V3 (D1/43

QO®

T 4)

\/2x2 ~14+2xvx?-1=

(A) x—vx2-1 (B) x+vx%-1
(C) x+vx* +1 (D) x—vVx®+1

QR®
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TH u¢)

\/6+\/6+\/6+\/6+----tooo =

A3 @2 (©)1 (D) +3

QR®

T 4R)

The value of “x” satisfying log, 4 x = 0.8 is:
A)81 B)18 (C)243 D)27

QR®®

T §o0)

The value of logg 5 x log, 9 is:
A0 B)1 C)2 D)4

QR®®

99 &%)

81 25 16
31 — |+ 51 — |+ 71 — || iq-
The value of[ 03(80 ]*’ 03(24 )*’ 08(15 )] is:

A)log 3 B)log 5 C)log7 D) log 2

QRR®®

I &)

1 1 :
If§ log x + 2 log y + log 2 = log (x + y), then:
A)x+y=0 B)x=y C)x=2,y=0 D)x=logy

0RO®

I §3)

If (150)* = 7, then x is equal to:
log7 log7
A) (log3)+ (log5)+1 B) (log3)+ (log6)
log7 log7
© (log3) + (log5)+ 10 D) log2+log3

QO®

TH &Y)

On simplifying (a + b)? + (a — b)? + 6a(a? — b?%) we get:
(A) 8a? (B) 8a%b
(C)8a%b (D) 8a®

QR®

I gY)

Factors of (42 — x — x2) are:
(A) (x—T)(x—-6) (B) (x + 7)(x—6)

(C)(x+ 7)(6-x) D) x+7N(x+6)

QRR®®
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I &%)

x 1
Factors of (xz +g"g) are:

1 1 0@B®®
(A) 8 (2x+1)3x+1) (B) 5 (2x+1)(3x-1)
1 1
(®) 5 (2x-1)38x-1) (D) 6 (2x—-1)3x+1)
T L)
If 16% = 256, then which of the following are perfect squares ?
A J0.00256 B)/0.0256 OO®
€ Jy3.69-1.13 (D) J12.8+5
T &¢)
How many digits are possible in the square
of a 'n' digit number? DIDIO]O)]
(A)2n+1 (B)22-1 (C)n* (D)2n
T &R)
Simplify: log m + log m? + log m? + ... + log m":
A) n(n+1) B)_m_n D@
2 2
C) n(n2+ D logm D)n@+1)logm?
T3 o)
qdier angdtar ~PAC = ? N P
1) 100° 2) 45° 20X
_ 9x 7x N
3) 35° 4)THTE B A c QOBR®®
Inthe Given Figure, /PAC is equal to Q P
1)100° 2)45’°
20x
3)35° 4)None ofthese X A Tx >
B A C
T3 LY)
log, 7 is:
A) an integer B) a prime number Q@R ®
C) a rational number D) an irrational number
T WR)
Ifl 1 +1 log y + log 2 = log (x + y), then:
o 108 X P = & ’ .
2 2 Ol

A)x+y=0 B)x=y
C)x=2,y=0 D)x=logy
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T3 ©3)

If log x _ logy logz ,

l+m-2n m+n-2  n+!/-2m

then xyz is equal to:
A)0 B)1 C)lmn D)2

QR®®

T3 ©Y)

feerea wrarean fafde fRrdtae weame IR .

6> Ko ey <>

AT 6 T fAeg ATSIET BT 37 Aget ?

1)1 2)2 3)3 4) 4
Then Which number will be oppositeto 6 7

<> K6 5> K>

1)1 2)2 3)3 4)4

ORGe®

T oY)

yeAfgrear St wivrd G A ?

)iz %@
3) 22 E’

4) 33
Find the missing number

1)1
2)12 E}
3)22 E’
4) 33

0RO®
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